R5.2.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
Xl 48, 426| 109, 490] 53,251] 56,239 -16] -119 -114 49 163 -5 394] 399 0 87 87
HI—TH 701 1,489 726 763 -2 -3 -2 1 3 1 4 3 -2 0 2
FLl T H 564 1,296 639 657 1 0 0 0 0 0 2 2 0 0 0
LI =TH 458 1,036 502 534 -1 -1 -1 1 2 0 1 1 0 0 0
SLlAEH 1,723 3,821 1,867| 1,954 =2 —4 -3 2 5 1 7 6 -2 0 2
Sk —TH 477 944 443 501 5 4 -1 0 1 0 7 7 5 5 0
. = 728 1,723 826 897 -1 -2 -3 0 3 4 6 2 -3 0 3
SR —TH 548(l 1,289 615 674 1 0 0 0 0 3 3 0 -3 0 3
S AT H 401 891 437 454 0 -3 -3 0 3 0 1 1 0 0 0
o h ] B 612 1,328 640 688 -3 -7 1 1 0 -7 3 10 -1 0 1
BN T B 240 507 252 255 3 5 -1 0 1 2 3 1 4 5 1
ARt TH 644/ 1,660 802 858 -5 -12 -3 1 4 -6 5 11 -3 0 3
oA\ T H 389 853 399 454 -2 -1 -1 0 1 2 3 1 -2 1 3
IV B 609| 1,447 712 735 -2 —6 0 0 0 —4 5 9 -2 0 2
B naat| 4,648 10,642 5,126 5,516 -4 =22l 11 2 13 -6 36 42 -5 11 16
e n—1H 353 808 396 412 -1 -6 0 0 0 -6 3 9 0 1 1
sk T AL 1,007 2,104 1,060 1,044 -2 -9 -3 0 3 -6 8 14 0 0 0
HHk o —TH 679 1,396 693 703 -1 —4 -1 0 1 -3 4 0 0 0
W A AEEL 2,039 4,308 2,149 2,159 -4 -19 —4 0 40 -15 12 27 0 1 1
Mt A — T H 5471 1,241 606 635 -6 -1 -3 0 3 5 11 6 -3 0 3
ek R _TH 358 920 471 449 0 2 -2 0 2 4 4 0 0 0 0
Mk R =TH 258 554 286 268 -2 -1 0 0 0 0 3 -1 0 1
ik L G| 558( 1,297 657 640 1 6 0 0 0 6 3 0 0 0
ek aaEtl 1,721 4,012 2,020 1,992 -7 6 -5 0 5 15 27 12 —4 0 4
TEIT) 368 847 407 440 1 0 -2 0 2 2 3 0 0 0
HOEEN— T H 208 432 209 223 1 -1 0 1 1 -1 3 0 0 0
HOEE T H 417 937 456 481 0 -1 -1 0 1 -2 2 2 2 0
HoEEI =T H 687 1,701 838 863 1 4 -2 0 2 6 10 4 0 0 0
HOEEAN T H 809 2,029| 1,005 1,024 0 3 -1 1 2 4 5 1 0 0 0
HEROH T H 441 1,022 514 508 0 —4 -2 1 3 -2 1 3 0 0 0
HOEEIS T H 398 886 434 452 0 —4 -5 0 5 1 2 1 0 0 0
HoEEOETH 675/ 1,458 709 749 0 -1 -1 0 1 -2 0 2 2 2 0
HOEEHOSER 3,635 8,465 4,165| 4,300 2 4 =12 3 15 4 20 16 4 4 0
PaEE|  1,5100 2,785 1,330 1,455 —4 -5 —4 1 5 —4 5 9 3 3 0
FHIAR 300 628 327 301 -2 —7 -1 0 1 —6 0 6 0 0 0
EE g —T 549 1,123 519 604 1 5 3 3 0 7 8 1 -5 0 5
EE g — T 259 521 261 260 1 1 0 0 0 1 1 0 0 0 0
R =T H 527 1,162 583 579 1 3 -1 1 2 0 1 1 4 4 0
TEE Py T 635 1,296 613 683 4 1 -1 1 2 -2 5 7 4 5 1
EEP g R T H 235 534 269 265 -2 -5 0 0 0 -2 0 2 -3 0 3
EER A2 2 205 4,636]  2,245] 2,391 5 5 1 5 4 4 15 11 0 9 9
B RHT— T H 682 1,372 644 728 6 7 0 3 3 9 11 2 -2 0 2
EEIARRT T H 656 1,278 594 684 2 0 2 2 0 0 4 4 -2 1 3
EEOARRTAE 1,338 2,650 1,238 1,412 8 7 2 5 3 9 15 6 —4 1 5
RPN 275 773 419 354 8 4 0 1 1 4 10 6 0 1 1
WHR—TH 715 1,629 805 824 1 1 -1 0 1 4 6 2 -2 1 3
R T H| 1L,7500  3,984| 1,924 2,060 2 9 1 5 4 6 18 12 2 4 2
WHR=TH 870l 2,217| 1,083 1,134 2 -3 -1 1 2 -3 3 6 1 1 0
HHRIT H 488 1,165 552 613 -6 -9 -1 0 1 -8 1 9 0 0 0
HPREEE 3,823 8,995 4,364| 4,631 -1 -2 -2 6 8 -1 28 29 1 6 5
HiR—TH 690/ 1,546 748 798 5 10 0 1 1 7 10 3 3 0
IHR_"TH 930fl 2,221| 1,107| 1,114 -3 -8 -3 0 3 —7 2 2 0
PR =TH 4911 1,045 531 514 -2 -6 0 1 1 -2 —4 0 4
dbrpiR&a 2,111 4,812] 2,386| 2,426 0 —4 -3 2 5 -2 17 19 1 5 4
T IROBTHT 326 816 392 424 1 0 -1 0 1 0 1 1 0
el 1,608 5,095 2,272 2,823 -3 14 -11 1 12 1 —4 0 4
M E T H 733 1,701 819 882 3 -1 -3 0 3 -2 4 4 0
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JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 765 1,821 913 908 6 8 0 1 1 6 6 0 2 3 1
MoE =1 H 646 1,512 751 761 2 -2 -1 1 2 -1 3 4 0 0 0
A EN T H 930/ 2,216] 1,045| 1,171 -1 -12 —4 1 5 -7 3 10 -1 0 1
RCENNE 654/ 1,481 728 753 1 1 -2 1 3 2 5 3 1 1 0
MAEST H 421 988 461 527 2 2 0 0 0 4 5 1 -2 0 2
mAlEae 4,149  9,719] 4,717 5,002 13 4 =10 4 14 2 25 23 4 8 4
VEPIe S 561 1,125 555 570 -4 -11 -1 0 1 -10 1 11 0 0 0
e —TH 322 697 330 367 1 3 -1 0 1 3 5 2 2 2 0
i — T H 599 1,330 630 700 0 -3 —4 0 4 2 3 1 -1 0 1
A gl 921 2,027 960| 1,067 1 0 -5 0 5 5 8 3 1 2 1
E— 1 H 337 715 370 345 331  -33 0 0 of -34 23 57 0 1 1
B — T H 638 1,366 648 718 —4 -5 -3 1 4 -2 4 6 0 0 0
=T H 403 1,058 528 530 0 -1 0 0 0 -1 1 2 0 0 0
EAE| 1,378 3,139 1,546] 1,593  —-37[ -39 -3 1 4 =37 28 65 0 1 1
e —TH 385 926 437 489 3 2 -3 0 3 1 2 1 4 4 0
WHE T H 441 1,087 544 543 0 0 1 1 0 -1 1 2 0 0 0
HHE T H 814 1,991| 1,017 974 2 1 -2 3 5 6 10 4 -3 1 4
W& T B 447 1,032 502 530 1 -2 0 1 1 2 2 0 -4 0 4
B E ] H 819 1,772 868 904 5 10 0 1 1 0 7 7 10 10 0
HHIENT H 244 509 256 253 4 5 -1 0 1 6 6 0 0 1 1
HESEE 3,150 7,317| 3,624 3,693 15 16 -5 6 11 14 28 14 7 16 9
<HWE—TH 601f 1,373 666 707 0 -5 -2 0 2 -1 0 1 -2 0 2
<HEIL—TH 715 1,477 721 756 -3 -8 -5 0 5 -3 7 10 0 0 0
SHBEIL=TH 521l 1,147 561 586 2 10 -2 0 2 11 12 1 1 1 0
<HEWLPTH 574 1,185 586 599 -2 -1 -3 0 3 1 1 1 1 0
<O T H 293 657 354 303 0 -1 -1 0 1 -1 3 1 1 0
<WEEEH 2,704 5,839 2,888 2,951 -3 -5 -13 0 13 7 23 16 1 3 2
WIE AR —TH 785 1,699 840 859 -3 -3 -2 1 3 -2 6 1 1 0
WIEAR T H 478 1,138 583 555 0 -3 —4 0 4 1 1 0 0 0
WIEARBT AR 1,263 2,837 1,423| 1,414 -3 -6 —6 1 7 -1 7 1 1 0
s 392 752 359 393 -1 -7 0 1 1 -7 12 0 1 1
ek —TH| 1,084 1,741 799 942 3 6 1 2 1 4 17 13 1 2 1
e T H 422 719 356 363 -1 -2 1 1 0 1 8 7 —4 0 4
kR =T H 673 1,721 808 913 -3 —4 -2 1 3 4 8 4 -6 0 6
sk BRI H 411 860 412 448 1 -2 -1 0 1 -5 3 8 4 4 0
o a e gl 2,590 5,041 2,375] 2,666 0 -2 -1 4 5 4 36 32 -5 6 11
FRIREET 20 54 28 26 0 0 0 0 0 0 0 0 0 0 0
B 753l 1,734 831 903 0 -1 —4 0 4 3 5 2 0 1 1
VEEE 320 733 333 400 0 1 -3 0 3 0 2 2 4 4 0
e — T H 453 1,122 555 567 4 7 1 2 1 6 6 0 0 1 1
e T H 407 919 447 472 2 0 0 1 1 0 3 3 0 0 0
oo B R 860l 2,041| 1,002[ 1,039 6 7 1 3 2 6 9 3 0 1 1
P — T H 672l 1,370 686 684 3 -1 -1 0 1 -1 3 4 1 1 0
P T H 541 1,302 616 686 0 2 -2 1 3 4 5 1 0 0 0
WeEm A s 1,213 2,672 1,302| 1,370 3 1 -3 1 4 3 8 5 1 1 0
P e 318 686 343 343 -1 1 -1 0 1 3 3 0 -1 0 1
BEHIR 204 489 258 231 -3 -11 —4 0 4 -3 1 4 —4 0 4




